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a(b+c)=ab+ac (a+ b)c =ac+ bc
a(b—c)=ab—ac (a—b)c =ac— bc
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(1) =3xx5xy+ (—2y) X 5xy
= 15x2y + (—10xy?)
= 15x%y — 10xy?

(2) =3ax4a+(—3a)x5b
= 12a% + (—15ab)
= 12a% — 15ab

(3) =2y x (—xy) + 2y X 3x + 2y X (—2y)
= —2xy? + 6xy — 4xy?

(4) =(4x2+8x)><$
=4x2 X = +8x X —
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(5) = (10a? — 15ab) x i
=10a? X — — 15ab X —
5a 5a

=2a—3b

(6) = (x?y? —3xy?) x (- %)
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3} (a—T7Ma+9) 4) (x+3y)2x—8y)
~1{5) (b+1}a—b—1) 6) (2x+y)lx—2y+3)
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(a+b)(c+d)=alc+d)+b(c+d)

=ac+ ad + bc + bd

(1) =xy+xx (D +(-Dxy+ (-1 x(-1) a=x,b=—1,c=y,d=—1
=xy—x—y+1

(2) =ac+ad+ (=b)xc+ (-b) xd
=ac+ad —bc—bd

(3) =axa+ax9+(-7)xa+(-7)x9
=a?+9a—7a—63
=a?+2a—63

(4) =x%x2x+xX(—8y) + 3y x 2x + 3y X (—8y)
= 2x% — 8xy + 6xy — 24y?
= 2x% — 2xy — 24y?

(5) =b(a-b-1)+(@-b-1)
=ab—-b?’—-b+a—-b—-1
=-b’+ab—-2b+a-1

(6) =2x(x—2y+3) +y(x—2y+3)
= 2x% — 4xy + 6x + xy — 2y? + 3y
= 2x% —3xy — 2y% + 6x + 3y
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@D (x+a)x+b)=x*>+(a+b)x+ab
@ (x+a)?=x%+2ax+a?
@ (x—a)? =x?-2ax + a?
@ (x+a)(x —a) = x* —a?

(1) FELAKDOEME S, a=1,b=4
=x2+(1+4)x+1x4
=x*>+5x+4

(2) FELAROZEME S, a=—5,b=7
=x24+(-5+7)x+(=5)%x7
=x%+2x—-35

(3) FEARDO%EM 5>, a=—2,b=8
=x2+(-2+8)x+(-2)x8
=x%4+6x—16

(4) FELROEMFES, a=—3 ,b=—7
=x2+(-3-7)x+ (-3) X (-7)
=x?—10x + 21

(5) FEARXDZM S, a=6
=x%24+2X6x+6%
=x%4+12x+ 36

(6) FTELAKX®%EM S, a=10
=x% — 2 x 10x + 10?2
=x% —20x + 100
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(7) FEARDZMHE S, x=2a,a=5b
= (2a)2 + 2 x (5b) x (2a) + (5b)2
= 4a® + 20ab + 25b?
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=x2-16
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(1) =(x?*+5x+6)+(x*—2x+1) O%F,
=x24+5x+6+x%2—-2x+1 FEEICE D 3
=2x%24+3x+7

(2) = (x% — 15x + 54) — (2x2 — 26x) O%49,
=x%2 —15x + 54 — 2x% + 26x FEEICE L D B
=—x%24+11x+54

(3) M=x—-y ¢33,
= (M —1)?
=M?-2M +1 M Z 3
=(x—-y?-2x-y)+1
=x2—-2xy+y?—-2x+2y+1

(4) M=a+b &9 3,
=(M—-2)(M + 4)
=M?+2M -8 M %4
=(a+hb)?+2(a+b)-—8
=a?+2ab+b?*+2a+2b—8
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@ x>+ (a+b)x+ab=(x+a)(x+b)
@ x%+2ax +a? = (x +a)?

@ x%?—2ax +a? = (x —a)?
@Dx?—-a’>= (x+a)(x—a)
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=x2+2X8xx+8?

= (x + 8)2
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= (4a)? +2x3 X 4a + 32
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=x2+B+4)x+3x4
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RBLT—1, 2UT-202200%Ro0%, —2& 123%4T 5,

=x2+(-2+Dx+(-2)x1
=x—-2)(x+1)

(8) RBG RO RNADEMES .,

LTS5, P T-24D220D08%R_>F%, —3¢L 8044 T 5,

=x2+(-3+8)x+(-3)x8
=(x—-3)(x+8)
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1) 3z°—48 (2] 2a*b—4ab—30b

3) (x+Dy+2x+1) U4 (x—2)°—(x—2)—20

(1) MR 3 THE %,
3(x2% — 16) HEMRD AR D% 8 5
3(x+4)(x—4)

(2) @K% 2b T %,
= 2b(a? — 2a — 15)

REBSREDONRDOZES, BLT—2, I T—151ch 2 2008%%T, —5 & 303%YT 2

= 2b(x — 5)(x + 3)

(3) d@ERE x+1 T 3,
=(x+Dy+2)

(4) M=x—2 ¥ 3,
=M? —M - 20

REBSREDONROZFES, BLT—1, 2T T—201ch 3 22008% T, —5& 47

=M-5M+4) M=%ERT
=(x—-2-5x—-2+4)
=x-=7)(x+2)
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1) 26°—14° 2) 78°—222

3) 49° 1) 57xX63
*FENAEEHT 5,

@D x+a)x+b)=x*>+(a+b)x+ab
@ (x+a)?=x%+2ax+a?
@ (x—a)? =x?-2ax + a?
@ (x+a)(x —a) = x* —a?
KK E GO N GEEARKICH) 2IEHT 5,
@ x>+ (a+b)x+ab=(x+a)(x+b)
@ x%+2ax +a? = (x +a)?
@ x%?—2ax +a? = (x —a)?
@Dx?—-a’>= (x+a)(x—a)

(1) RBROAXDEEHT 5,
= (26 + 14)(26 — 14)
=40 x 12
= 480

(2) WBHROAXDEEHT 5,
= (78 +22)(78 — 22)
=100 x 56
= 5600

(3) FELAKBEIEHT 2,
= (50 — 1)2
= 502—2x1x50+1
=2500—-100+1
= 2401

(4) FELAXDZFEHT 2,
= (60 — 3)(60 + 3)
= 602 — 32
= 3600 — 9
= 3591
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1) Qx+1){2x—1)—(2x—3)*

2] xr*—10x+25
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(1) =(@2x)?2—12—-{(2x)? —2x 3 x (2x) + 3%} -
=4x?—-1—(4x*-12x +9)
=4x2—1—-4x2+12x -9

=12x — 10 x=15 #fKA9 %
=12x5-10
=180 — 10
=170

(1) =(x-5)? x=15 #fKA T %
= (15 — 5)2
=102

=100
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S={(p+2a)iqg+2a)—pq

HOEARLZEAHEDOES /13,
£=2(p+a)+2(g+a
:l o |
£2T, af 7

D, @de, S=af

SOXFERZEHT 2,
S=(p+2a)(q+2a)—pq

= (2a+p)(2a+q) —pq

= (2a)> + (p +q) X 2a+ pq — pq
=4a’ +2(p+qa+pq—pq
=4a’+2(p+qa

= 4a% + 2ap + 2aq -

0 DXFREFET 2,

¢=2(p+a)+2(q+a)
=2p+2a+2q+2a
=4a+2p+2q

al %E8E 3 5%,
al =a(4a+2p+2q)

= 4a? + 2ap + 2aq
= 4a’ + 2ap + 2aq -
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(1) ec(—-;_ a+—§—b)

(2) %x(l\‘)x —9y+6)

(3) (2x°y—12zy*)3xy (4) (9a2b—3ab)+(—%ab)

(1) 6c(—%a+§b)=6c><(—%a)+6c><§b

= —3ac + 4bc

(2) 2x(15x— 9y +6) = 2x x 15x + 2x x (=9y) +2x x 6
= 10x2 — 6xy + 4x

(3) (2x%y — 12xy?) =+ 3xy = (2x%y — 12xy?) x %

— 242 1o 2y 1
= 2x y><3xy+( 12xy )X3xy

2x 2x%y—12xy?  2x—12
=% 4y  Frig, 2ELEY 20
3 3xy 3

(4) (9a2b - 3ab) + (~2ab) = (9a2b — 3ab) x (- =)

= 9a%h x (- =) + (~3ab) x (- =)

= —6a + 2
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(1) (—=5x+4y)* (2) (zx_L’)c (3) ( 1)( 1}

3 X—— x+—r)

4 4
4) (Tx—=2)(2+7zx) (8) (x+3}x—T7) (6) (2x+5)(2x+9)

A

(7) (a+b)at+b—c) (8) (a—b—c)? 9) (z+2y—1)(x+2y+1)

(1) (=5x +4y)? = (=5x)2 + 2 x (=5x) X (4y) + (4y)?
= 25x2 — 40xy + 16y?



(2) (22-2) = @vr—2x @0 x () + &)

3

41
=4x? —-x+=
37 o

(4) Ix=2)Q2+7x) = (Tx—-2)(7x +2)
= (7x)? — 22
=49x2 — 4

(5) x+3)x=-7D=x>+B+(=Dx+3x(=7)
=x%—4x-21

(6) 2x+5)2x+9) =2x)*+(B+9)x2x+5%x9
= 4x? + 28x + 45

(7) (@a+b)la+b—c) M=a+bltk<,
MM —c¢) = M? — Mc
=(a+b)?—(a+b)c
=a’ + 2ab + b? — ac — bc

(8) (a—b—¢)? M=a-blH,
(M —¢)? = M2 — 2Mc + ¢?
=(a—b)?>-2(a—b)c+c?
=a? — 2ab + b? — 2ac + 2bc + c?
=a?+ b%+ c? —2ab + 2bc — 2ca

(9) (x+2y—D(x+2y+1) M=x+2yt 5L,
M—1M+1) = M2 — 12
=(x+2y)?-1
=x2+4xy+4y? -1
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(1) (a+b)?+(a—b)* (2} (x—D{zx+2)—(x—3)(x—5)

(3) (x+43)'—(x+2)(x+4) (4} (2x+1)(2x—1)—(x=5)(x+2)

(1) =a?+2ab + b%+a? —2ab + b?
2a% + 2b?

(2) =x24+x—-2—(x2—8x+15)
=x24+x—-2—x*+8x—-15
=9x —17

(3) =x2+6x+9—(x%2+6x+8)
=x2+6x+9—x>—6x—38
=1

(4) =4x2—1— (x2 —3x—10)
=4x2 —-1—x%+3x+10
=3x2+4+3x+9

Q ROAAFMIRL % S o,
1

(1) 10x*+25x (2) I:—Ty2 (3) x*+10x+24
(4) .'rf"+.r+-31 (5} x*=9x+20 (6) xy‘+ryz—4xy
(7) 25x°—30x+9 (8) a*—2a—15 (9) —10x+9+x°

(1) 10x% +25x = 5x(2x + 5)

(2) sty = ()

= (x =3y (x +3y)
(3) x2+10x+24=x>+(6+4)x+6x4
=(x+4)(x+6)

2
(4) K +x+2=x+2x5x+(5)

=(x +%)2

(5) x2—9x+20 = x% + {(—4) + (=5)}x + (—4) X (=5)
=(x—-4)(x—-5)



(6) xy?+xyz—4xy=xy(y+z—4)

(7) 25x%2 —30x +9 = (5x)?> — 2 x (5x) x 3 + 3?2
= (5x—3)?

(8) a?—2a—-15=a?>+(-5+3)a+(-5)x3
=(a—-5)(a+3)

(9) —10x+9+x2=x%2—-10x+9
=x2+(-9—-1Dx+(-9) x (-1)
=(x-9x—-1)

@ ROAEEBIML S 0,
r*+5x+6 2) (z—2)°-3(z—2)+2

(3) (x+y)P—4 1) (z—y)r+4(x—y)—>

(1) —x2+5x+6=—(x2—5x — 6)
= —{x2+ (=6 + Dx + (—6) x 1}
=—(x—-6)(x+1)

(2) M=x-2t79 %,
=M?—-3M +2
=M?+(—1-2)M+ (-1) x (=2)
=M-1DHWM-2)
=(x-2-1Dkx—-2-2)
=(x-3)(x—-4)

(3) M=x+yt T35,
=M2_22
=M-2)(M+2)
=x+y—-2)x+y+2)

(4) M=x—-yt T35,
=M?+4M -5
=M?>?+(5B-1)M+5x(-1)
=M-1)(M+5)
=x-y-Dx-y+5)
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(1) (z—Tjg+T—x (2) 2ab+2b—a—1

(1) =(x=-7y-(x=-7)
=(x-N0r-1

(2) =2b(a+1)—(a+1)
= (a+1)(2b—1)

0 KORDHERDEE 0,
(1) xr=198DL %, x*+4x+4 O
(2} x=3.75 y=2250DLE, r’—y* Offi
(3] x=27TDLE, x(x+3)—(x+3)(x+1) Offl
4] a=17, b=40D& %, (a+b)*—2(a+b)+1 D

(1) x? +4x+4 = (x +2)?
= (198 + 2)2
= 2002
= 40000

(2) x?=y?=(x+y)(x-y)
= (3.75 + 2.25)(3.75 — 2.25)
=6X%Xx1.5
=9

(3) x(x+3)—(x+3)x+1D) = +3){x—(x+ 1)}

=(x+3)x(-1)
=(27+3)x(-1)
=-30

(4) M=a+bt 753,
=M?-2M+1
= (M —1)*
=(a+b-1)>
=17 +4-1)?
=202
=400
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ELWIEZFHLLE W, L W

(1) #fE T 2 HEORKE VAT, 2n+3 TH 5,

HEET 5 20D0FE 2n+1, 2n+3 L35, nld, BHEL I3,

T 5 2 DDEET, REVWHD 2FEL /NI B2 FTEG] L,

2n+32?-Cn+1D)?=0Cn+3+2n+1)2n+3-2n—-1)
=({[4n+4)x2
=4(n+1) x2
=8(n+1)

n+l i3, BEZ2 5, 8(n+1)id, 8 DfEHKTH 3,

L7z 5T, HEtT 2 2 200WMCT. KEVWKD 2ELL/NI VB 2HFEELFIC L, 80

R TR D

(2) 62—4%2=(6+4)(6—4)=10x2 =20
82 —-62=(846)(8—6)=14x2 =128
1022 — 1002 = (102 + 100)(102 — 100) = 202 x 2 = 404
= 4 ofFKick 5,

EHFET 3 20088 % 2n, 2n+2 & T3, n i, BRL T3,

T 5 2 DDMET, REWHD 2FEL /NI B2 FTEG] L,

2n+2)2-2n2=02n+2+2n)2n+2—2n)
=[4n+2)x2
=2(2n+1) x 2
=42n+1)

2n+1 13, B0, 42n+1)i1d, 4 DfERTH B,

L7z 5T, Htd 2 2 00 C, KEVWHED 2ELL/NI VB 2FEELFIC L, 40
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Q KOAE, EEOEEIRAREL THELAS L,
(1) 21°—20°+19*—18'+17°—16% (2) 8—10°+12?

(1) =(21+20)(21—-20)+ (19 + 18)(19 — 18) + (17 + 16)(17 — 16)
=41+37+33
=111

(2) =(8+410)(8—10) + 122
= —36 + 122
= 12?2 — 62
=(12+6)(12—-6)
=18x%x6
=108

@ KD (T L 4) T, EboOAH, FERENRAE 2D ETH,
ROEMARALT, SWLAES,
(7) 364x366 (4) 363X367

364 x366—363x367 & LT, 2N, 0LV KRZTTNIE. 364x366203KZ

X, 363 X367 RZ N LTk D,
n=364 & L 7258
nn+2)—-(m—1)n+3)=n%2+2n— n?+2n-23)
=n?+2n—-n?>-2n+3
=3
0 XD KEWDDH364X36603KZ
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